18 hours

600 W total population

total population




18 hours

600 @ total population

400

total population

200




18 hours

600 = total population

400

total population

200




24 hours

2500 = total population

2000

1500

total population

1000

500




30 hours

20000 = total population

15000

10000

total population

5000




36 hours

150000 = total population

100000

total population

50000




42 hours

1250000 = total population

1000000

750000

total population

500000

250000




48 hours

10000000 = total population

7500000

5000000

total population

2500000




100 hours

1256415 = total population

1000000000000000

750000000000000

total population

500000000000000

250000000000000
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